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2 #HE)l| 717 2 &)l 1, 040 2 =
3 AR 712 3 N 992 3 =
4 Pkl 694 4 BE 956 4 T
5 BE 687 5 BH 955 5 I
] FE 687 5 FE 953 6 =
B 6586 7 T 937 7 =
8 BB 683 8 b[E 928 8 =
9 LAl 682 9 BalE 913 9 =
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A 562 7 R 895 2 =
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| 16 [T 655 15 P37 879 16 4
A 555 T5 B 877 7 -
18 HE 654 18 EH 877 17 4
19 N 654 18 = 870 19 0
20 =1 652 20 g 866 20 4
21 E}H 652 20 =R 866 20 m
22 gl 652 20 BE 865 22 ik
23 1 [E) 652 20 el 862 23 T
24 =H 649 24 &l 861 24 I
25 5 648 25 ] 859 25 =%
26 [ L 648 25 Ik 859 25 4
27 g 646 27 =3 858 27 1
28 it/@3E 044 28 1] =] 857 28 I
29 =) 629 29 = bk 853 29 T
30 =k 628 30 = 848 30 n
31 B8 618 31 BE 828 31 =
32 =8 617 32 BiR 824 32 T
33 BIE 616 33 - ] 824 32 U
34 =5 615 34 5 822 34 T
35 BHY 614 35 FkH 822 34 T
%] BiE 514 35 LFE 820 34 :
37 1154 613 37 o) 822 34 1
38 x5 613 37 8F 821 38 T
39 HEZA 612 39 B 821 38 4
40 *EE 611 40 BiE 821 38 1
41 Flg 611 40 o] 821 38 4
42 = I 611 40 R 821 38 I
43 ERE 611 40 BEZ 821 38 4
44 5 610 44 = U5 821 38 4
45 BF 610 44 ERE 821 38 4
46 # A 610 44 =SH 820 46 4
i T 610 14 ] 820 16 >
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1 A )l 717 1, 040 323 45. 0%
2 A BR 719 1, 041 322 44. 8%
3 A AR 712 992 280 39. 3%
4 A FE 687 956 269 39. 2%
5 A T3 687 953 266 38. 7%
= 2 EMNEF5E 673 930 257 38. 2%
6 g itEE 644 889 245 38. 0%
7 A B2 694 955 261 37. 6%
8 B L5 654 899 245 37. 5%
9 B Ak 686 937 251 36. 6%
10 B BE 683 928 245 35. 9%
11 C = bk 628 853 225 35. 8%
12 B HE 662 896 234 35. 3%
13 C =301 629 848 219 34. 8%
14 D 5 610 822 212 34. 8%
15 D 745 610 822 212 34. 8%
16 D &F 610 821 211 34. 6%
17 B =1 652 877 225 34. 5%
18 D P 610 820 210 34. 4%
19 D =8 611 821 210 34. 4%
20 D RIG 611 821 210 34. 4%
21 D = I 611 821 210 34. 4%
22 D BRE 611 821 210 34. 4%
23 B mA 657 882 225 34. 2%
24 D BiR 614 824 210 34. 2%
25 B ik 655 879 224 34. 2%
26 D REA 612 821 209 34. 2%
27 D ;5 613 822 209 34. 1%
28 D xa 613 822 209 34. 1%
29 D &5 618 828 210 34. 0%
30 B et 655 877 222 33. 9%
31 B i dt) 682 913 231 33. 9%
32 D BHE 614 821 207 33. 7%
33 B = 675 902 227 33. 6%
34 C =5 617 824 207 33. 5%
35 C & 652 870 218 33. 4%
36 D = 615 820 205 33. 3%
37 D 2R 616 821 205 33. 3%
38 C fig] LUy 648 862 214 33. 0%
39 C o 646 857 211 32. 7%
40 L e 648 859 211 32. 6%
41 C B 654 865 211 32. 3%
42 B IR} 655 866 211 32. 2%
43 C B 649 858 209 32. 2%
44 C alll 652 861 209 32. 1%
45 c =R 656 866 210 32. 0%
46 G KL 652 859 207 31. 7%
47 C Ik B 675 880 205 30. 4%
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=t SEMEFHE 673 930 257 38. 2%
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10 B gE 683 928 245 35. 9%
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16 B EAR 657 882 225 34. 2%
17 B xR 655 879 224 34. 2%
18 B Pt 34 655 877 222 33. 9%
19 C =/ 629 848 219 34. 8%
20 C 1 [ 652 870 218 33. 4%
21 C L 648 862 214 33. 0%
22 D B 610 822 212 34. 8%
23 D M| 610 822 212 34. 8%
24 D &F 610 821 211 34. 6%
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26 C Eoiba 648 859 211 32. 6%
27 C 5 654 865 211 32. 3%
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31 D Kig 611 821 210 34. 4%
32 D = 611 821 210 34. 4%
33 D BRE 611 821 210 34. 4%
34 D iR 614 824 210 34. 2%
35 D E5 618 828 210 34. 0%
36 C ER 656 866 210 32. 0%
37 D REZ 612 821 209 34. 2%
38 D 11} 613 822 209 34. 1%
39 D A5 613 822 209 34. 1%
40 C = H 649 858 209 32. 2%
41 C alll 652 861 209 32. 1%
42 D BEX 614 821 207 33. 7%
43 C TS 617 824 207 33. 5%
44 C Fak L 652 859 207 31. 7%
45 D = 615 820 205 33. 3%
46 D 2R 616 821 205 33. 3%
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1 Edo) 824 108 15. 1%
2 = I 821 107 15. 0%
3 A5 822 107 15. 0%
4 ] 820 106 14. 8%
5 EEx 821 106 14. 8%
b =B 821 106 14.8%
7 EB 821 106 14. 8%
8 HEZR 821 106 14. 8%
9 ERE 821 106 14. 8%
10 B 822 106 14. 8%
11 K H 822 106 14. 8%
12 5iR 824 106 14. 8%
13 = 820 105 14. 7%
14 5F 821 105 14. 7%
15 1} 822 105 14. 6%
16 iR 821 104 14. 5%
17 & 848 106 14. 3%
18 W5 866 107 14.1%
19 s 859 106 14. 1%
20 kL 859 106 14. 1%
21 B8 828 102 14. 0%
22 =k 853 105 14. 0%
23 i 879 108 14. 0%
24 BE 865 106 14. 0%
25 A1 877 107 13. 9%
26 pt] 877 107 13. 9%
27 fiEd Ly 862 105 13. 9%
28 1T 857 104 13. 8%
29 AR 882 107 13. 8%
30 iEas 858 104 13. 8%
31 Aall 861 104 13. 7%
32 & 870 105 13. 7%
33 B 896 108 13. 7%
34 ZR 866 104 13. 6%
35 = 902 107 13. 5%
36 It BB 880 104 13. 4%
37 LS 899 106 13. 4%
38 "B 928 109 13. 3%
39 FE 953 111 13. 2%
40 BE 956 111 13. 1%
41 2 913 106 13. 1%
42 itiEE 889 103 13. 1%
43 EH 955 110 13. 0%
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44 &R 937 106 12. 8%
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47 RR 1, 041 109 11. 7%
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2 A HE 845 956 111 13. 1%
3 A 2 845 955 110 13. 0%
4 A )l 930 1, 040 110 11. 8%
5 B gE 819 928 109 13. 3%
6 A KB 883 992 109 12. 3%
7 A R 932 1, 041 109 11. 7%
8 C =S 716 824 108 15. 1%
9 B Ak m 879 108 14. 0%
10 B BE 788 896 108 13. 7%
11 D = 714 821 107 15. 0%
12 D x5 715 822 107 15. 0%
13 B TR 759 866 107 14. 1%
14 B Bl 770 877 107 13. 9%
15 B RE 770 877 107 13. 9%
16 B AR 775 882 107 13. 8%
17 B =B 795 902 107 13. 5%
o £EMEFIHE 823 930 107 13. 0%
18 D g 714 820 106 14. 8%
19 D EHR 715 821 106 14. 8%
20 D i} 715 821 106 14. 8%
21 D ] 715 821 106 14. 8%
22 D REZS 715 821 106 14. 8%
23 D BRS 715 821 106 14. 8%
24 D B 716 822 106 14. 8%
25 D £ H 716 822 106 14. 8%
26 D 51iR 718 824 106 14. 8%
27 C &l 742 848 106 14. 3%
28 C i 753 859 106 14. 1%
29 C FERL 753 859 106 14. 1%
30 C 85 759 865 106 14. 0%
31 B L5 793 899 106 13. 4%
32 B %) 807 913 106 13. 1%
33 B &R 831 937 106 12. 8%
34 D =4 715 820 105 14. 7%
35 D =F 716 821 105 14. 7%
36 D Wiz nr 822 105 14. 6%
37 D =ik 748 853 105 14. 0%
38 C 8 L 757 862 105 13. 9%
39 C i1 765 870 105 13. 7%
40 D B nr 821 104 14. 5%
41 C IT]= 753 857 104 13. 8%
42 C &H 754 858 104 13. 8%
43 C all 757 861 104 13. 7%
44 C R 762 866 104 13. 6%
45 C Ik B 776 880 104 13. 4%
46 C 188 786 889 103 13. 1%
47 D 25 726 828 102 14. 0%
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F | —HeHH 770 970 200 26.0%
FiE | —eEH 760 957 197 25.9%
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Wiz | — et 713 888 175 24.5%
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kE | e 722 896 174 24.1%
B | —AEEH 769 945 176 22.9%
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=5 [—Bew 762 902 140 18.4%
A | 805 937 132 16.4%
B [ AR 753 874 121 16.1%
K |— RSB - 80X 807 997 190 23.5%
FPiE | —AeHEHE- s 785 954 169 21.5%
S| AR - EX R 773 934 161 20.8%
B | —ABHH - S 769 927 158 20.5%
BMEIN | — e 813 1040 227 27.9%
A |ENRI 761 037 176 23.1%
£ | ENRIS kR 736 877 141 19.2%
B [gEBES/IG 667 852 185 27.7%
hiE  (REBEL/NT 643 820 177 27.5%
ZH |REBRNSE 757 955 198 26.2%
FE [BEEBSHIDFE 756 953 197 26.1%
B |SEEA/NGE 652 821 169 25.9%
il [REE &/ 746 939 193 25.9%
FITRE=E: T 712 893 181 25.4%
HE |SEBR/INT 717 896 179 25.0%
Xn |BiEBER/IG 659 822 163 24.7%
RE  |BEBA/INE 752 938 186 24.7%
EE |gEEmRIT 747 928 181 24.2%
BE |EEBL/INFE 771 956 185 24.0%
X |BIEB&SITE 718 881 163 22.7%
LS |REER/NFE 739 903 164 22.2%
BiE |SEBS/IET 673 822 149 22.1%
e |REE&KIE 710 859 149 21.0%
=52F |BEBLK/IFE 681 821 140 20.6%
B [SEB&S/IT 730 879 149 20.4%
| BE | EEBE&S/ITE 685 821 136 19.9%
[ BiEBSR/IT 718 858 140 19.5%
A |REER/IE 733 874 141 19.2%
L8 [R5 760 944 184 24.2%
=F |#E#%R 763 902 139 18.2%
A ([EEES 801 937 136 17.0%
Rl [EERES 763 861 98 12.8%
Al |EEE&G. — . ESEES 785 946 161 20.5%
BEF |AFHHZE 670 856 186 27.8%
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P IREEECENNGO) 792 955 163 20.6%
M) | B8E(FE)/ITEX 806 1040 234 29.0%
BERE |BBE FE) /5T 672 872 200 29.8%
hiE | BBE (FE) /5T 642 820 178 27.7%
X4 |BBE(EE) /DT 685 872 187 27.3%
& HEhE (FE) /5t 758 959 201 26.5%
= |BBE (FHE) /T 681 858 177 26.0%
e |B8EGE) /5T 747 936 189 25.3%
#AZE) | EpE-RAELEEE 807 1040 233 28.9%
= AR ELENG 712 918 206 28.9%
55 |BEE/IE 705 890 185 26.2%
12 BEhE /T 711 894 183 25.7%
Kz |EEE/NE 793 993 200 25.2%
A BENE /T 745 930 185 24.8%
PE_|BEHE/E 697 869 172 24.7%
BE |BEHE/NT 801 988 187 23.3%
EW  |BEE/NE 739 877 138 18.7%
EE [BBHE/NE 786 930 144 18.3%
= EEEAN 760 892 132 17.4%
EIHEL ETN 0] 806 1040 234 29.0%
SF |BBHE/NFE 687 879 192 27.9%
CEINNRELES TEHO) 807 1040 233 28.9%
Wi |EEEEE 716 892 176 24.6%
| Bl |B&MA 639 821 182 28.5%
imE B 721 922 201 27.9%
FE |B@m 775 953 178 23.0%
Ell_|1B% 737 849 112 15.2%
Fid . -3 1¢9) 653 820 167 25.6%
HiE ([BSGE) 651 820 169 26.0%
iR B () 659 820 161 24.4%
pusd . BE ) 694 853 159 22.9%
B (SR 744 951 207 27.8%
B | BUR 744 913 169 22.7%
BH BT 759 955 196 25.8%
EE BT 713 889 176 24.7%
WA [HEEEN 756 940 184 24.3%
FE |BEEH 776 953 177 22.8%
EE |EEEE 771 931 160 20.8%
HE |BEERH-ESER 772 939 167 21.6%
EH |[AERH-ESEH 757 916 159 21.0%
BH |Gk 722 955 233 32.3%
HE | 696 896 200 28.7%
KB |k 739 928 189 25.6%
E=VITIE: i 698 861 163 23.4%
=2 ik 700 858 158 22.6%
dbiEE [AeRAELE 723 917 194 26.8%
Ko |88 731 981 250 34.2%
B |8k 724 954 230 31.8%
=2, AE 3D 736 953 217 29.5%
I ITET S 757 977 220 29.1%
3o 758 975 217 28.6%
k.S 810 1041 231 28.5%
B |85 766 979 213 27.8%
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ENTEEED 774 985 211 27.3%
= S50 730 929 199 27.3%
EEIES 819 1040 221 27.0%
FiE |85 806 1023 217 26.9%
LE |8 784 995 211 26.9%
BE |88 763 946 183 24.0%
= Feyi 739 902 163 22.1%
N EES 817 996 179 21.9%
o IES 819 996 177 21.6%
EE |8 817 992 175 21.4%
=2F [##-sEH5 685 878 193 28.2%
WO |&k-ERERE 764 995 231 30.2%
g |ES-BEHR 742 932 190 25.6%
w0 |ESs 701 921 220 31.4%
i [ERE 693 904 211 30.4%
dtEE B 718 924 206 28.7%
X7 UL 672 864 192 28.6%
LE |ES#H 721 924 203 28.2%
X |ES#W 675 863 188 27.9%
B |ESER 672 859 187 27.8%
5 |[ERER 676 864 188 27.8%
EiE [ESHEM 721 921 200 27.7%
Bif |ESEW 668 853 185 27.7%
i | EREW 761 970 209 27.5%
2 |ESs 743 947 204 27.5%
HEE |[ESER 681 867 186 27.3%
BF |ESfm 667 847 180 27.0%
Az |EBS#EH 784 994 210 26.8%
PEH |ESER 680 861 181 26.6%
Elll [EXEH 722 913 191 26.5%
=8 [ESHE 722 911 189 26.2%
ERE |ES#H 668 842 174 26.0%
B |ESBH 708 890 182 25.7%
i |EREH 701 879 178 25.4%
28 |EIEH 685 856 171 25.0%
Wiz |[ESEH 698 872 174 24.9%
B [ 750 936 186 24.8%
HE |ESHH 751 935 184 24.5%
=i |ESEH 668 831 163 24.4%
5 U 768 955 187 24.3%
AR BB 756 940 184 24.3%
BE SR 790 981 191 24.2%
= ESE 747 927 180 24.1%
TE |ESBE 791 981 190 24.0%
Al |ESHER 723 896 173 23.9%
WE B 761 934 173 22.7%
IRE B 747 907 160 21.4%
REl B 790 957 167 21.1%
EE |ESm 769 930 161 20.9%
=2H 5 3 711 858 147 20.7%
=B 761 891 130 17.1%
B 714 825 111 15.5%
C 8 794 1041 247 31.1%
#E) |E 802 1040 238 29.7%
B4 711 820 109 15.3%
E) |[EFHBR-T/AMR 802 1040 238 29.7%
=F |Ef-7—J)L 763 942 179 23.5%
ME)| |EBE-H—TILD 788 1040 252 32.0%
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A7 |[FEBER 724 936 212 29.3%
AR |EHSE 781 993 212 27.1%
A |ERERE 721 910 189 26.2%
BE |EHERE 788 974 186 23.6%
i EHER 725 886 161 22.2%
EL [F#eE-2EHES 770 877 107 13.9%
ERE [BEIE 652 821 169 25.9%
== S 697 875 178 25.5%
B |88k 717 897 180 25.1%
Ell |BEE 716 890 174 24.3%
X |BEIE 680 821 141 20.7%
85F |BEE 681 821 140 20.6%
B _|BE8E 687 824 137 19.9%
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BH |BEE 718 858 140 19.5%
L |BEE. . BaxA—/\—. EBBHR/NE 727 859 132 18.2%
M=) [R5 RS, —RE RS 813 1040 227 27.9%
&8 [A# 756 876 120 15.9%
=8 |A# 816 866 50 6.1%
e L 797 1041 244 30.6%
=3I 744 965 221 29.7%
I ST 710 907 197 27.7%
BiE  |EEEE 722 919 197 27.3%
= (AR 760 957 197 25.9%
| A X 757 947 190 25.1%
RER  [EnXigm 722 902 180 24.9%
| iR (X 714 888 174 24 4%
| R [MEER 753 935 182 24.2%
B8 |EhESE 719 890 171 23.8%
IBF s 802 990 188 23.4%
| =5 |s#EHW 785 962 177 22.5%
EECE 768 938 170 22.1%
HE  |EEER 786 957 171 21.8%
AR |kt 802 968 166 20.7%
Bl |@EEEm 785 946 161 20.5%
T [EhEs 812 976 164 20.2%
EE |#XER 839 1002 163 19.4%
e |EEEE(E) 748 938 190 25.4%
R & (E) 748 935 187 25.0%
N L b3 AGED) 802 998 196 24.4%
IFE  [EnXEE () 785 951 166 21.1%
P ML e 1 A=) 721 894 173 24.0%
TR A 773 980 207 26.8%
L S LA 774 980 206 26.6%
IR |EEsE (R) 764 962 198 25.9%
LB |EhEsE (i) 786 977 191 24.3%
R @A (R) 748 875 127 17.0%
IR |EEE () 840 971 131 15.6%
=5 [EX 744 923 179 24.1%
I EES 783 942 159 20.3%
EMTENEE PR 764 940 176 23.0%
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ZH | — AR 747 935 188 25.2%
WA |—feHim 756 939 183 24.2%
BB | AL 753 935 182 24.2%
B [ 769 945 176 22.9%
Wiz | —AeHm 713 888 175 24.5%
B [—Mesm 722 896 174 24.1%
HE | — R 784 953 169 21.6%
BH | — AR 805 968 163 20.2%
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EE |—S8m 805 960 155 19.3%
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BB | — AR - S 785 954 169 21.5%
ELL |- WX SR 773 934 161 20.8%
®F |—#g - B 769 927 158 20.5%
BEN Ao 813 1040 227 27.9%
=& [ENRmI 761 937 176 23.1%
=5 |FIRIS R 736 877 141 19.2%
BH |BEBES/NE 757 955 198 26.2%
FE |BiEER/INT 756 953 197 26.1%
B | R IERE S /NE 746 939 193 25.9%
Ei# ([BEBEL/IT 752 938 186 24.7%
B |BEBR/IFE 667 852 185 27.7%
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FTE=E: TN 712 893 181 25.4%
EE [#EES/INT 747 928 181 24.2%
HE |[FEESITE 717 896 179 25.0%
ik BE-g: Tl 643 820 177 27.5%
B |BEE &/ 652 821 169 25.9%
LEE 5 & /N5 739 903 164 22.2%
x5 BR/FE 659 822 163 24.7%
X ([BEBE&/NT 718 881 163 22.7%
2 |RIEB&/IT 673 822 149 22.1%
R (BBESIT 710 859 149 21.0%
EY [FBES/IFE 730 879 149 20.4%
A |BiEER/IT 733 874 141 19.2%
=2F |BEER/IT 681 821 140 20.6%
E=F |ZEBESK/NS 718 858 140 19.5%
Bl |[BEBHR/IT 685 821 136 19.9%
LEE [£#ERE&E 760 944 184 24.2%
= £ERES 763 902 139 18.2%
2 | EERES 801 937 136 17.0%
TIES T 763 861 98 12.8%
Bl |EERG, — B, ERES 785 946 161 20.5%
BE | KRS E 797 990 193 24.2%
EF |[AFEHHEE 670 856 186 27.8%
G EPR 753 915 162 21.5%
B |EEHE (FHHE) /)% 692 904 212 30.6%
=i |BEEGhE)/FE 750 939 189 25.2%
FE |BHEEGE) /T 786 953 167 21.2%
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